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Y 2. What is the equation of the tangent line to the curve x?y + y2 + x = 3 at the point
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5. Ohm's law for electrical circuits is V = IR, where V is voitage (in volts), I is
current (in amps.} and R is resistance (in ohms.)

In this case the voltage is
constant.

[f resistance is decreasing at .2 ohm per second when the resistance is
20 ohms and the current is 30 amps, then how is the current changing?
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4. A drug dealer is 5 miles south of BG driving south on [-75 at 80 mi/hr. In
pursuit, a state trooper (s 3 miles west of BG on US 6 traveling east at 100
mishr. Is the trooper getting closer to the fleeing drug dealer? —— ffeos fust
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